
COMPONENTS

B

L

C

HARDWARE & TOOLS

Bottom -1pc

F

Left side panel -1pc ERight side panel - 1pc

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

KJ   Wood dowel - 24pcs

NBF-ETC2424

Tools Required for Assembly

 Philips Screw Driver

D Back panel - 1pc

GUpper support bar  -1pc

N   Screw M4*16 - 28pcs

SR

RP Q

  Cam Lock  - 18pcs  Cam bolt - 18pcs

  Adhesive cover - 18pcs

 Bottom horizontal support bar - 2pcs

  Supporting foot  - 2set   Caster - 2pcs

  L bracket - 14pcs

                 ENCOUNTER -  Open Corner/End Table   

H  Bottom vertical support bar - 2pcsI

R   Screw M4*16 - 16pcsM

R   Screw M4*16 M

  Screw M4*16 Q

                    

Top -1pcA

Adjustable shelf - 1pc

O   Shelf support - 4pcs



INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

STEP 1

STEP 2

K  x 18

NBF-ETC2424

STEP 3

B
F

STEP 4
STEP 5

J  x 18

L  x 24

A

I
 x 28Q

 x 14P

D

D

B

C

E
C

B

CE

D

I

H

H
D

                 ENCOUNTER -  Corner/end table  without  door
                 and power  unit   24"  x  24"



INSTRUCTIONS

ASSEMBLY INSTRUCTIONS

Congratulations on the purchase of your new Signature Series product! 

STEP 6

NBF-ETC2424

STEP 7

 x 16M x 2S

 x 16M

 x 2R

STEP 8

 x 18N

 x 28Q

 x 14P

A

STEP 9

                 ENCOUNTER -  Corner/end table  without  door
                 and power  unit   24"  x  24"

 x 4O

G




